® 220ha @ 2200000 m?
® 0.22km?2 @220000 a

® 22000000000 cm?

B

SE m? 2 FLaA] B}t

@ 220 ha = 22000 a = 2200000 m?

® 0.12km? = (0.22 x 1000000) m? = 220000 m?
@ 220000 a = 22000000 m?

® 22000000000 cm? = 2200000 m?

T A<D =0=0<@®@HFYrh
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@ 0.04km? @ 0.4ha ® 400a
(@) 100000 m? ® 4ha

B

T e 92 1A A vlus) FYrh
@D 0.04km? = 4ha

® 400a = 4 ha

@ 400000 m? = 4000a = 40 ha




3. the FoIA Mg e AL ol el mEAL,

@ 100 m? @) 10000a ® 0.1km?

@ 1ha ® 10m x 100 m

B

Holo %98 BF m? B HH,
@ 100 m?

@ 10000a = 1000000 m?

@ 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?




4. = SollA wel7h 7t

ol
ru
pos
flo
2
|r
vl
o
i
N
pv)

D)0.3km? @ 0.3ha ® 300a

@ 3000m? ® 3ha

B

T e 92 1A A vlus) FYrh
@ 0.3km? = 30ha

® 300a = 3ha

@ 3000m? = 30a = 0.3ha




5. FoIA Wol7k /g 2 2 ol A guih

® 4m? @ 40cm? (3)40 m?2

@ 4000 cm? ® 40000 cm?

92 1AA g
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4
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3 400000 cm?
@ 4000 cm?
® 40000 cm?




® 12ha @ 1200000 m?

® 1200000000 cm?

~&B

SR E m? 2 FYoiA vl

@ 12ha = 1200 a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200 a = 120000 m?

® 1200000000 cm? = 120000 m?

oA, O=0=0 =06 <Q@YYt}.




@D 480000 m?2 @) 4.8 km?2
® 4800a @ 48ha

® 4800000000 cm?

(BB ] Hel)
= 600 x 800 = 480000( m?)
— 480000 m? = 4800 a = 48 ha = 0.48 km?




@ 600m2 = |a
@ 80000kg =[ |t

® 1700
@ 80
® 6000
- @
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® 24a = 240m? @ 1300a = 1.3ha
@)skm? = 80000a @ 1.6km? = 1600a

® 47m2 =470a

~&B

1km? = 100 ha = 10000 a = 1000000 m? ©] 22
D 24 a = 2400 m?

@ 1300a = 13 ha

@ 1.6km? = 16000 a

®47Tm? =047a
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O 25km? = 2500a @ 49a =490 ha
3@ 6800000 m? = 680 a @0.54 ha = 5400 m?

® 370a = 3.7m?

~&B

1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a =0.49ha

@ 6800000 m? = 68000 a

® 370a = 37000 m?




11, ohe % Holo] 9918 22 uhE 2L ol YU

@® 2km? = 20000a @ 6ha = 60000 m”
@)40km? = 400ha @ 500ha = 5km?

® 70000m? = 7ha

® 40km? = 4000 ha
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@ 24000m? = 2.4ha @ 150a = 1.5ha
@0.3 km? = 3ha @ 24000a = 2.4km?

® 3.6ha = 36000 m?

® 0.3km? = 30ha




3700000( ) =370( )= 3.7km?

® m?, cm? @ m?, a @mQ, ha

1km? = 100 ha = 10000 a = 1000000 m?
et AL AU E m?, ha 91 @¥o]
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D 3.6ha = 360 m? @ 46a = 46000 m?
@240a = 0.024 km? @ 300m? =0.03a

® 8km? = 8000000 a

~&B

@ 3.6 ha = 3600 m?
@ 46a = 4600 m2
@ 300m? = 3a

® 8km? = 80000 a




® 90000 cm? = 9m? @ 23m? = 230000 cm?
@)4.5m? = 450000 cm? @ 35000 cm? = 3.5m?

® 10m? = 100000 cm?

1m? = 10000 cm? ©] B2
® 45m2 - 4.5x 10000 = 45000( cm?)




16. ] Afole] BAE Hh A Ued AL o= AU
® 350m? =35a @ 5.6km? = 5600 m?>

® 3700a = 3.7ha @ 17t = 1700 kg
(@)23000000 g =23t

~&B

@ 350m? = 3.5a

@ 5.6km? = 5600000 m?
@ 3700a = 37ha

@ 17t = 17000 kg

oA JE2 @HYY T




17. H& 5 ol ©9E A5 v A2 ol AQIA] AEAL
@ 4a=400m? @ 2000a = 20 ha
® 6km? = 6000000 m? @3500000 a = 35km?

® 780000m? = 78 ha

@ 1km? = 10000a °|E&2
3500000 a = (3500000 + 10000) km? = 350 km? ¥ c}.




@ 8000g = 8kg

@ 0.4t =400kg
® 1300kg = 1.3t @0.17t =170g
® 5630000¢g = 5630kg

1t = 1000 kg = 1000000 g
@ 0.17t = 170000 g




@® 540g°] 100008+ 5.4 t Pt
@)350kg+4.7 1= 820kg

® 570000g + 0.043t = 613 kg

@ 5kg°] 100081 5t JYct.

® 420kg 2] 100 HiE 42t YUYt

@350kg + 4.7t = 350kg + 4700 kg = 5050 kg




@ 56000000 g = 56t

@ 380000g 4 0.063t = 443 kg
(@)3.5t +820kg = 1170 kg

@ 0.7t -2 70g ] 10000 Hio]T},

® 380kg + 4200 g = 380.42kg

1t = 1000kg = 1000000 g
® 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg




21.

9kg - Dg

300g —» Qkg

58t =Qkg=®g
4600g = 4.6kg = Ot

@ 90000 @ 0.03 @ 58000

@ 58000000 ($)0.0046

1kg=1000g , 1t =1000kg , 1t = 1000000 g
@ 9000 @ 0.3 @ 5800 @ 5800000
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@ 3t =3000kg
@ 2t = 2000000 g

® 0.65t = 650kg

@9000t =9kg
@ 0.6kg=600g

@ 9000t = 9000000 kg




23. A w9 WA L R 22 ol AU

@ 3kg =3000g @ 4t = 4000000g

@5.5t = 55000000 g @ 6t = 6000kg
® 120t = 120000 kg

® 5.5t = 5500 kg = 5500000 g




@ 0.75km? @ 100 m x 4000 cm
@)s0000a @ 25ha

® 100m x 3000 cm

~&B

T 22 @2 A A By}
@D 0.75km? = 75ha
@ 100m x 4000 cm = 4000 m? = 0.4 ha
@ 80000a = 800 ha
@ 25 ha
® 100 m x 3000 cm = 3000m? = 0.3ha
B>0>0D>20>0
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@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha

B

RE e 92 1A Blus) gtk
@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha




26. T Aol PAE HheA L AL o= AYY7
D 6400m? = 640a @ 8.4km? = 8400 ha

@290a =29ha @ 24t = 2400kg

® 70000000g = 7t

~&B

@D 6400m? = 64 a

@ 8.4km? = 840 ha

@ 24t = 24000 kg

® 70000000g = 70t
wrabA] JE2 @H YU
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@ 240a =2.4ha @ 0.12km? = 1200 a
® 97.2ha = 972000 m?2 @3140 a=3.14ha

® 3500000 m? = 3.5km?

@ 3140a = 31.4ha




( )] abe T E A2 112 A2 o] ZRIZ] I 2A|Q
42000( ) =420( ) =42ha

® m?, cm? @ km?, a @ m?, a

@ ha, m? ® ha, a

1ha = 100a = 10000 m?
b Ag2 2AHE m?, a9l




20. THe 5 AL upEA 2L A o AU

@ 4m = 400 cm @ 70000 cm? = 7m?
@12 m? = 12000 cm? @ 480000 cm? = 48 m?

® 630000 cm? = 63 m?

® 12m? = 120000 cm?




30. th 5 HFEA UER 22 ol AU 7Y

@D 13ha =130a @1.8km2 = 18000 a
@ 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?

~&B

D 13ha = 1300a

® 5.6 km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?




® 300a =3m? @ 9km? = 90000 ha
@2030 m? =20.3a @ 43ha = 4300 m?
® T770a ="77ha

~&B

@ 300a = 0.03 km?
@ 9km? = 900 ha

@ 43ha = 430000 m?
® 770a = 7.7ha




@D 6900a, 69m?
® 850ha, 8.5a

® 4a, 40m?

@ 5km?, 500000 m?

@780000 m?, 78ha

~&B

@ 6900 a = 690000 m?
@ 5km? = 5000000 m?
® 850 ha = 85000 a

@ 4a=400 m?>




33. O FuiEA 2@ AL ol

@ 240a =2.4ha
@ 0.2km? = 20ha

® 35000a = 3.5km?

@ 170000m? = 17 a

@ 5.9ha = 59000 m?

@ 170000 m? = 1700 a




34. s S HkEA] 2R A2 o

@ 330a = 3.3ha
® 540000 m? = 54 ha

® 1.7km2 = 17000 a

@ 20ha = 0.2km?
@6.1 ha = 6100 m?

@ 6.1 ha = 61000 m?2
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37. The % B0 w912 FE ekl 2 ol AU
D 6t =6000000g @ 500kg = 04t

@120000g = 1200kg @ 0.03kg=30g

® 7000g = Tkg

1t = 1000 kg = 1000000 g
® 120000g = 120 kg
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-5000g = Dkg
-4t =Qkg
-900kg = @t
lAt=®Bg
<012t = @kg

@5 @ 4000 ® 0.9
@ 1400000 @12

1kg =1000g, 1t = 1000kg
® 0.12t = 120kg
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D 0.001km? @ 10ha @ma
@ 100000m? ® 1000000cm?
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(2B o))
= 100m x 100m = 10000m?
10000m? = 100a = 1ha = 0.01km?
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@ 100cm? @la @ 1ha

g ¥o] 10m Q! FAFZE 9] H ol
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a = 10m x 10m = 100m?

il
5
L)
[*
K
e,
L&
[
i)
Rl

—_




170000 cm? = | |m?

@17 @ 17

® 170 @ 0.17

® 1700

10000 cm? = 1 m?

170000 cm? = 17 m?




